S Ot W NN -

B4E 2 TBFEYORE) TBLEROKEE.

RE
. IR EHIIN S
. GBI S s
. REAFUIENIX W
. IR ITIER I NS
. IREAFUIFENI XN
. IR ITIER I N D
.%ﬁﬁﬁ@?fﬁ%éTzi%%%Wi
B HE 19 O t 5 HICHES . ¢ = % — 1.838

PH7 TVETpEERDS L p=0.0409 < 0.05
EEt AR S

P(T 2 1.8) = 0.0439, P(T > 1.9) = 0.0364
L7223 T p < 0.0439 < 0.05

X o TImiBRFIIFEH SN 5.
GHIME T D 2 H HIEAUHIL £19(0.05) = 1.729 X
b, T >1.729

. RSO FokEtE T = —2 =59 13 & 35

VU?/36
28 — 30
= 2058 257
\/34/36

TVETpEZRDZ L p=10.0235 > 0.01
FEt RIS

P(T £ —2.0) = 0.0267, P(T < —2.1) = 0.0215
L7235 T p > 0.0215 > 0.01

X o TIBRFUIFER X 0.
FEIRRE T & 5 52 & FHIZ £35(0.01) = 2.438 &
D, T<-2438

Dt IS, t =

. S o Fokate T = 2120 3 EmpE s

JUZ/19
118 — 120 _ 94957
/20/19

TVETpEERDZ L

p=2x0.0331 = 0.0662 > 0.01

FRFt AHEERDS

P(IT| 2 1.9) = 2 x 0.0368 = 0.0736

P(IT| = 2.0) = 2 x 0.0304 = 0.0608

L7228-5T p > 0.0608 > 0.01

X o TIRERFUIEH XNz,

THIARE T 5 % B & BHIBIE £15(0.005) = 2.878
LD, |T| > 2878

Dt FRITHES. t =

. RO TN THEHE Z =

£ 3

4. IR FofEtRT = 2 =40 xmpe o7

JU?/28
42 — 40 .
s =2.160 257 7
VETpEERD S &
p=2x0.0199 = 0.0398 < 0.05
FEt TARPS
P(|T| = 2.1) = 2 x 0.0226 = 0.0452
P(|T| = 2.2) = 2 x 0.0183 = 0.0366
L7223 T p < 0.0452 < 0.05
X o TIRRIREIITRA SN 5.
MHIRRE T H % 22 & AR 157(0.025) = 2.052
&b, |T| = 2.052

Dt FHEIHES. t =

. RO FehER 2 — — L =05 a
0.5(1—0.5)/80
%ﬁm%@ﬁggﬁ.
z = —0.5 - 0.5/870 =178 0267 FVYET pﬂﬁ
BRD DL p=2x0.0368 =0.0736 > 0.05
% 7 RS &

P(|Z] 2 1.78) = 2 x 0.0375 = 0.0750

P(|Z] 2 1.79) = 2 x 0.0367 = 0.0734

L72235 T p>0.0734 > 0.05

& o TIRBERFUIZFESN X N,
HHIRETH 2 20 HFEHIFUI 20,005 = 1.960 £ D,
|Z] = 1.960

p—0.4
0.4(1 — 0.4)/240

VIREME IR TRICHE S .
p=— 03204  _ sqgpmerrysmc
/0.4 % 0.6/240

plE%ERD B L p=2x0.0008 =0.0016 < 0.01
FIIERD RIS

P(|Z] 2 3.16) = 2 x 0.0008 = 0.0016

P(|Z| 2 3.17) = 2 x 0.0008 = 0.0016

L7535 T p=0.0016 < 0.01

X o TRERFIIEN SN .

MHIRE T H 2 2> S FHIUL 20.005 = 2.576 £ D,
|Z| > 2.576





